
Soustraction Avec Des Zéros (F)Calculez la différence.
100 100 100 100- 47 - 18 - 32 - 76
100 100 100 100- 64 - 69 - 57 - 89
100 100 100 100- 99 - 68 - 6 - 43
100 100 100 100- 7 - 95 - 89 - 62
100 100 100 100- 98 - 34 - 10 - 45
100 100 100 100- 69 - 73 - 84 - 28
100 100 100 100- 99 - 7 - 10 - 58
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Soustraction Avec Des Zéros (F) RéponsesCalculez la différence.
100 100 100 100- 47 - 18 - 32 - 7653 82 68 24100 100 100 100- 64 - 69 - 57 - 8936 31 43 11100 100 100 100- 99 - 68 - 6 - 431 32 94 57100 100 100 100- 7 - 95 - 89 - 6293 5 11 38100 100 100 100- 98 - 34 - 10 - 452 66 90 55100 100 100 100- 69 - 73 - 84 - 2831 27 16 72100 100 100 100- 99 - 7 - 10 - 581 93 90 42
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